E. Arrambide		        Physics AP B[image: ]

Name: _______________________________________________Date: ______________ Period: ______
TEST 1: Laws of Motion
I. Answer the following problems. Include all the work to receive full credit. Use a=g=±10m/s2.

1. Two blocks are suspended as it is shown in the figure below. Find the tension of all 4 cables. (Cables 1 and 2 are perpendicular)

 (
42°
)[image: ]












											T1=______________
T2=______________
T3=______________
T4=______________






2. Three blocks are part of a system as shown. The blocks are connected by two cables, cable 1 & 2. Use the following information:
		m1=5kg		m2=3kg		m3=4kg		Ɵ=25°		
[image: ]
a. Draw a Free Body Diagram for each block.
			m1				m2				m3






b. Find the acceleration of the system.

											a= __________________





c. Find the values for tension 1 and tension 2.

											T1= _____________
											T2= _____________














II. Select the correct answer.
1. When a certain force is applied to an object with a mass of 2 kg, its acceleration is 10.0 m/s2. When the same force is applied to a different object, its acceleration is 4.0 m/s2. The mass of second object is		_____________
a. 10kg
b. 8 kg
c. 5 kg
d. 2.5 kg
e. 1.25 kg
 
2. A block is pushed across a horizontal surface by the force F with constant velocity. F = 20 N, θ = 30°, and M = 10kg. What is the magnitude of the normal force on the block? 					_____________
[image: ]a. 20N
b. 88N
c. 94N
d. 100N
e. 110N

3. When an object is in equilibrium, what kind of motion can it have?					_____________
a. constant acceleration.
b. constant motion.
c. constant velocity only.
d. no motion only.
e. Either C or D are correct.

Use the following for questions 4-6
An object of mass m is at rest on an inclined plane as shown below. The inclined plane forms an angle θ with the horizontal. The object slides down the ramp due to the effect of gravity. 				_____________
[image: ]






4. Which of the following diagrams correctly shows the forces acting on the object? 		_____________

[image: ]

5. The normal force acting on the object is:						_____________
a. mg
b.mgcosƟ
c.mgsinƟ
d. there is no normal force

6. The force making the object slide is:						_____________
a. mg
b.mgcosƟ
c.mgsinƟ
d. there is no force at all.
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1. When a certain force is applied o an object with a mass of 2 kg, its acceleration is 10.0 m/s%, When the same

uestions 10 — 11 B force is applied to a different object, its acceleration s 4.0 m/s2. The mass of second object is
a.10kg
b.ske
c.5ke

B d.25ke

e125kg

2. Ablock is pushed across  horizontal surface by the force F with constant velacity. F= 20 N, §=30°, and M =10
- kg. What is the magnitude of the normal force on the block?

a.20N
An object of mass 2 is at rest on an inclined plane as shown above. The inclined plane N b.88N
forms an angle 6 with the horizontal. The coefficient of static friction between the object :-?::m
and the plane is i/ B N

10. Which of the following diagrams correctly shows the forces acting on the object?

3.When an object is in equilibrium, what kind of motion can it have?
a) b) ) . constant acceleration.

. constant motion.
constant velocity only.
no motion only.

. Either C or D are correct.

a.
b.
- 2
d
e

d) D) N
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1. When a certain force is applied to an object with a mass of 2 kg, its acceleration is 10.0 m/s2, When the same
s N force is applied to a different object, its acceleration s 4.0 m/s%. The mass of second object is
An object of mass  is at rest on an inclined plane as shown above. The inclined plane
forms an angle 6 with the horizontal. The coefficient of static friction between the object
and the plane is 1. E
10. Which of the following diagrams correctly shows the forces acting on the object?
2. Ablock is pushed across a horizontal surface by the force F with constant velocity. F= 20 N, § =30°, and_M =10
a) b) <) - kg. What is the magnitude of the normal force on the block?
220N
- b.gsN r
94N
d.100N -2
N e110N
3.When an object is in equilibrium, what kind of motion can it have?
L) D) N a. constant acceleration.
b. constant motion.
- ¢. constant velocity only.
d. no motion only.
e. Either C or D are correct.
An object of mass m s at rest on an inclined plane as shown below. The inclined plane forms an angle 8 with the
horizontal. The object slides down the ramp due to the effect of gravity.
Resolve forces on an D correctly shows the forces. Weight always pulls an N
incline object down. a normal force is always perpendicular to the
Direction of forces surface. and friction is always parallel to the surface. In D N
this case. friction points up the ranp because it opposes the 0
motion of the object sliding down the ramp
Which of the following diagrams correctly shows the forces acting on the object?
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TEST 1: PROJECTILE MOTION l@ l V

I. Answer the following problems. Include all the work to receive full credit. Use a=g=+10m/s’.

1. Two blocks are suspended as it is shown in the figure below. Find the tension of all 4 cables. (Cables 1 and 2 are

not perpendicular)
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2. Three blocks are part of a system as shown. The blocks are connected by two cables, cable 1 & 2. Use the
following information:
: m;=5kg m,=3kg ms=4kg 0=25°

§L)<7\3O¢!f\._—o T2 68N < /rf’
r 0 S 28 - 16,40 - 2/\;"

l p—
g | Fozo0
b ]
a. Draw a Free Body Diagram for each block. .
m; m, m;
T T~ v
Tora 5

' R o

b. Find the acceleration of the system.

2
= v = L Fmlg
A

TFroen
T o=F bxz T a2z
= 12.66-16- A= 12-A

o= 224 -1 3 =
12
c. Find the values for tension 1 and tension 2.
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Il. Select the correct answer.
1. When a certain force is applied to an object with a mass of 2 kg, its acceleration is 10.0 m/s’. When the same force

is applied to a different object, its acceleration is 4.0 m/s>. The mass of second object is i o
a. 10kg
b. 8 kg Fouvnn-A o AN -A
’ \ \
d.2.5kg E= (2\(\© 20 .
e. 125 kg T - 20N VWAL 20 59
g o=
2. A block is pushed across a horizontal surface by the force F with constant velocity. F =20 N, ¢=30°, and M =
10kg. What is the magnitude of the normal force on the block? é;
a. 20N
b. 88N :
c. 94N
d. 100N
3. When an object is in equilibrium, what kind of motion can it have? e

a. constant acceleration.
b. constant motion.

c. constant velocity only.
d. no motion only.

Use the following for questions 4-6
An object of mass m is at rest on an inclined plane as shown below. The inclined plane forms an angle 6 with the

horizontal. The object slides down the ramp due to the effect of gravity. g e

”

<7

4. Which of the following diagrams correctly shows the forces acting on the object? d

a) b) <)

' )
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5. The normal force acting on the object is:
a.mg
c.mgsin®
d. there is no normal force

6. The force making the object slide is:
a.mg

b.mgcos©

d. there is no force at all.




image1.png
kg

2g





image2.png




image3.png
N 9 U7 ce?a 10508 (Read-Only) [ Compatibilty Mode] - Microsoft Word Table Tools Picture Tools s Test1 Forces - Microsoft Word

=Y home | nset  pagelayout  References  Maiings  Review  Viw  Acobst | Design  lyout | Fomat PageLayout References

¥ cut Arna - Arna -
Tmes NewRoman__~ 12 4aBbCl AaBb( AsBbCel AwBbCal Asmbcer AaBbC - AA a9 A

2 conr & Repice 5 AsBbCeDe AsBbceDe AaBbCi AaBbce AQDB 4asbcc. acsbceo. acsbeep aasbcco maBbcede acBbCeD AaBbCcD( AsBsCcDC AaBBCCDT AaBBCCDE & Repice
rems = S e mphasis || Headin omal | stong | subttie | Tue | o Coange|| S paste - ¢ har|[®- A omal TNoSpaci.. Heading1  Heading € Subtite  SubtieEm. Emphass Intense on uste Intense Q.. Subti Rer.. IntenseR.. BookTtie - Change
StE S romat painter || B 21 0~ be 2 ¢ a2~ A | ] Emphasis | Heading1 || TNomal | Strong bt Tt 5] Shane | e+ S romatpainter | [B1 £ U~ sbe %, x' Aa|[#- A~ ] TNormal NoSpaci.. Headingl  Heading2 Tt Subie | SubtleEm.. Emphasis | IntenseE.. | Stong  Quote | iense Q.. SubllRel. IntenseR.. | BookTile o Change | B

5| Editing

Clipboard. 0 Stytes 5| Editing Clipboard. 0 Font 0 Stytes

erysosap 8 erysosap 8 erysosap 8

e
6. Ina game of shuffleboard (played on a horizontal surface), a puck is given an initial speed of 6.0 m/s. It slides a sz
distance of 9.0 m before coming to rest. What is the coefficient of kinetic friction between the puck and the s oo wmen e same
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Ablock is pushed across a horizontal surface by the force F with constant velocity. F =20 N, 6 =30°, and
M= 10 kg. What is the magnitude of the normal force on the block?

20N
88N
94N
98N
108N

A3.0-kgblock slides on a frictionless 20° inclined plane. A force of 16 N acting parallel to the incline and up
the incline is applied to the block. What is the acceleration of the block?
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